(H) My Grandmother and | (1/1) [Solution]

The Lardil pronoun system is based on the concept of moiety—individuals being groups on the lines of
alternate generations. A person would be considered in the same generation (or moiety) as a grandmother
or grandson, but in a different moiety from a parent or child (or great-grandchild, etc.)

Answers:

H1.

a.3 b.5 c.4 d.2 e.6 f.1

H2.

a. nyaanki b. kirri . nyalmu d. bilmu e. niinki f. kirri

H3. Only “she and her sister” should be circled.

H4.
a. ngakuli

b. ngakulmu

H5. ngakurri




